

BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	ΓΙΟΝΑL	NAF	ЕСО	E.R. PARTRIDGE, INC.			
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
PUBLIC SAFETY: POLICE SERVICES, POLICE RECORDS, SPECIAL OPERATIONS										
1.	ABA Body Armour External Carrier, Tactical Assault Carrier with Fixed Pockets, Item #ABA-TAC1-PKT, no substitutes.	14	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>		
2.	ABA Extreme BR01, Level 3A Body Armour,NIJ-06, Navy, 2 AJ Carriers (Female), no substitutes.	14	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>		
3.	Galls Nylon Windbreaker, Style# JA138, Sizes: Small – XL, Color: Black, no substitutes.	75	<u>N/B</u>	N/B	\$30.00	\$2,250.00	<u>N/B</u>	N/B		
4.	Galls Nylon Windbreaker, Style# JA138, Sizes: 2XL-4XL, Color: Black, no substitutes.	50	<u>N/B</u>	<u>N/B</u>	<u>\$35.00</u>	<u>\$1,750.00</u>	<u>N/B</u>	<u>N/B</u>		
5.	Galls Nylon Windbreaker with Removable Liner, Style# JA411, Sizes: S- XL, Color: Black, no substitutes.	65	<u>N/B</u>	N/B	N/B	<u>N/B</u>	N/B	<u>N/B</u>		
6.	Galls Nylon Windbreaker with Removable Liner, Style# JA411, Sizes: 2XL-3XL, Color: Black, no substitutes.	75	<u>N/B</u>	N/B	N/B	N/B	N/B	<u>N/B</u>		
7.	Galls Nylon Windbreaker with Removable Liner, Style# JA411, Size: 4XL, Color: Black, no substitutes.	25	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>		



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
8.	Gibson And Barnes, Sentinel Shirt Mil- Spec 45, color: Sage- Men Style # SB2M1ES, Long Sleeve no epaulets Sizes 32-48, no substitutes	12	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Gibson And Barnes, Sentinel Shirt Mil- Spec 45, color Sage- Men Style # SB2M1ES, Long Sleeve w/ epaulets Sizes 32-48, no substitutes	12	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
10.	Gibson And Barnes, Sentinel Pants Mil- Spec 45, color Sage-Men Style # TB1M1ES, Sizes 32-48, various inseams, no substitutes	12	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
11.	Gibson And Barnes, Sentinel Flight Jacket Heavy Weight Lining Mil-spec 45-Men Style # JB2M1ES-MA4R-000001Sizes: 36 52, short in length, color Sage, w/out Epaulets, no substitutes	12	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>
12.	Gibson And Barnes, Sentinel Flight Jacket Heavy Weight Lining Mil-spec 45-Men Style # JB2M1ES-MA5R-000001 Sizes: 36-52, short in length, color Sage, with Epaulets, no substitutes	8	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
13.	Gibson and Barnes Sentinel Flight Suit- Defiant Nomex 6.5, Style # UB2N2ES, Long Sleeve, Sizes: 36-52, Regular in length, Color; green, no substitutes.	8	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
14.	Gibson and Barnes Sentinel Flight Suit- Defiant Nomex 6.5, Style # UB2N2ES, Long Sleeve, Sizes: 36-52, with epaulets Regular in length, Color; green, no substitutes.	8	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
15.	Peter Jay Motorcycle Pants with gold or silver stripe, Style 1441, Winter, Sizes: 28 – 44, Length: Regular, Color: Black, no substitutes.	37	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Peter Jay Motorcycle Pants with gold or silver stripe, Style# 1441, Winter, Sizes: 46–56, Length: Regular, Color: Black, no substitutes.	37	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Peter Jay Motorcycle Pants with gold or silverstripe, Style# 1851, Summer, Sizes: 28 – 44, Length: Regular, Color: Black, no substitutes	37	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
18.	Peter Jay Motorcycle Pants with gold or silver stripe, Style# 1851, Summer, Sizes: 46 – 56, Length: Regular, Color: Black, no substitutes.	37	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Port Authority, Men's Long Sleeve ValuePoplin Shirt, Style # S63, Sizes: S- XL, Color: White or acceptable equal. MANUFACTURER NAME & NO.	100	<u>\$13.21</u>	\$1,321.00	<u>\$19.50</u>	\$1,950.00	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
20.	Port Authority, Men's Long Sleeve Value Poplin Shirt, Style # S63, Sizes: 2XL-3XL, Color: White or acceptable equal. MANUFACTURER NAME & NO.	50	<u>\$16.07</u>	\$803.50	<u>\$23.00</u>	\$1,150.00	N/B	<u>N/B</u>
	Port Authority, Men's Long Sleeve Value Poplin Shirt, Style # S63, Sizes: 4XL-6XL, Color: White or acceptable equal. MANUFACTURER NAME & NO.	25	<u>\$19.65</u>	<u>\$491.25</u>	<u>\$26.00</u>	<u>\$650.00</u>	<u>N/B</u>	<u>N/B</u>
	Port Authority, Ladies Long Sleeve Value Poplin Shirt, Style # L632, Sizes: S-4XL, Color: White or acceptable equal. MANUFACTURER NAME & NO.	100	<u>\$16.07</u>	\$1,607.00	<u>\$23.00</u>	\$2,300.00	N/B	<u>N/B</u>
	Port Authority, Ladies Long Sleeve Value Poplin Shirt, Style # L632, Sizes: S-4XL, Color: White or acceptable equal. MANUFACTURER NAME & NO.	50	<u>\$16.07</u>	\$803.50	<u>\$23.00</u>	<u>\$1,150.00</u>	N/B	<u>N/B</u>
	Port Authority, Ladies Long Sleeve Value Poplin Shirt, Style # L632, Sizes: S-4XL, Color: White or acceptable equal. MANUFACTURER NAME & NO.	25	<u>\$16.07</u>	<u>\$401.75</u>	\$23.00	\$575.00	N/B	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
25	Taylors Leatherwear Pittsburgh Leather Motorcycle Jacket, Style# 4473, Sizes: S- 4XL, Length: Long, Color: Black, no substitutes.	35	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>
26	United Uniform Ultraflex Zip Off Bike Patrol Pants, Style# 777, 100% Nylon, Sizes: X Small– XL, Color: Black, no substitutes.	40	<u>N/B</u>	<u>N/B</u>	<u>\$58.40</u>	\$2,336.00	<u>N/B</u>	<u>N/B</u>
27	United Uniform Ultraflex Zip Off Bike Patrol Pants, Style# 777, 100% Nylon, Sizes: 2XL – 4XL, Color: Black, no substitutes.	40	<u>N/B</u>	<u>N/B</u>	<u>\$70.08</u>	\$2,803.20	<u>N/B</u>	<u>N/B</u>
28	United Uniform Ultraflex Zip Off Bike Patrol Pants, Style# 777, 100% Nylon, Size: 5XL, Color: Black, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	<u>\$75.92</u>	<u>\$1,518.40</u>	<u>N/B</u>	<u>N/B</u>
29	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Sizes: X Small – XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>\$25.50</u>	<u>\$1,530.00</u>	<u>N/B</u>	<u>N/B</u>
30	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Sizes: 2XL – 4XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	\$30.60	<u>\$1,836.00</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
31	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Size: 5XL, Color: Black, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	<u>\$33.15</u>	<u>\$663.00</u>	<u>N/B</u>	<u>N/B</u>
32	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540 Coolmax, Bike Patrol, short sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Size: 6XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>\$35.70</u>	\$357.00	<u>N/B</u>	<u>N/B</u>
33	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540L Coolmax, Bike Patrol, long sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Sizes: X Small – XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	\$33.30	<u>\$1,998.00</u>	<u>N/B</u>	<u>N/B</u>
34	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540L Coolmax, Bike Patrol, long sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Sizes: 2XL – 4XL, Color:	60	<u>N/B</u>	<u>N/B</u>	<u>\$39.96</u>	\$2,397.60	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	ΓΙΟΝΑL	NAF	ЕСО	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
35	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540L Coolmax, Bike Patrol, long sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab on both shoulders, Size: 5XL, Color: Black, no substitutes.		<u>N/B</u>	<u>N/B</u>	<u>\$43.29</u>	<u>\$1,298.70</u>	<u>N/B</u>	<u>N/B</u>
36	United Uniform Pique Knit Polo Shirt with Pocket, Style# 540L Coolmax, Bike Patrol, long sleeve, 70% Polyester 30% Cotton, 1 inch reflective trim on sleeves, Microphone tab onboth shoulders, Size: 6XL, Color: Black, no substitutes.		<u>N/B</u>	<u>N/B</u>	<u>\$46.62</u>	<u>\$466.20</u>	<u>N/B</u>	<u>N/B</u>
37	United Uniforms Waterproof Bike Patrol Jacket, Style# 9550 Hydro-Tex, 100% Nylon, zip out liner, Microphone tabs on shoulders, 1/2 inch reflective trim across the chest and back, Sizes: Small – XL, Colors: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>\$105.00</u>	<u>\$6,300.00</u>	<u>N/B</u>	<u>N/B</u>
38	United Uniforms Waterproof Bike Patrol Jacket, Style# 9550 Hydro-Tex, 100% Nylon, zip out liner, Microphone tabs on shoulders, 1/2 inch reflective trim across the chest and back, Sizes: 2XL – 4XL, Color: Black, no substitutes.	60	<u>N/B</u>	<u>N/B</u>	<u>\$126.00</u>	\$7,560.00	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
39	United Uniforms Waterproof Bike Patrol Jacket, Style# 9550 Hydro-Tex, 100% Nylon, zip out liner, Microphone, tabs on shoulders, 1/2 inch reflective trim across the chest and back, Size: 5XL, Color: Black, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	<u>\$136.50</u>	\$2,730.00	<u>N/B</u>	<u>N/B</u>
40	Walls Men's Poplin Coverall, Style# 1216, Sizes: 38 – 48, Length: Short, Colors: Black or Navy, no substitutes.	50	<u>N/B</u>	<u>N/B</u>	\$62.00	\$3,100.00	<u>N/B</u>	<u>N/B</u>
41	Walls Men's Poplin Coverall, Style# 1216, Sizes: 36 – 48, Length: Regular, Colors: Black or Navy, no substitutes.	30	<u>N/B</u>	<u>N/B</u>	\$34.00	\$1,020.00	<u>N/B</u>	<u>N/B</u>
42	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 2X-Large	120	<u>N/B</u>	<u>N/B</u>	<u>\$40.00</u>	<u>\$4,800.00</u>	<u>N/B</u>	<u>N/B</u>
43	Blauer, Style # 8372 ArmorSkin, S/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: 3X- Large	28	<u>N/B</u>	<u>N/B</u>	<u>\$50.00</u>	<u>\$1,400.00</u>	<u>N/B</u>	<u>N/B</u>
44	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 4X-Large	28	<u>N/B</u>	<u>N/B</u>	<u>\$50.00</u>	<u>\$1,400.00</u>	<u>N/B</u>	<u>N/B</u>
45	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Large	920	<u>N/B</u>	<u>N/B</u>	<u>\$40.00</u>	\$36,800.00	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
46	Blauer, Style # 8372 ArmorSkin, S/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: Medium	560	N/B	<u>N/B</u>	<u>\$40.00</u>	\$22,400.00	<u>N/B</u>	N/B
47	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Small	220	N/B	<u>N/B</u>	\$40.00	\$8,800.00	<u>N/B</u>	<u>N/B</u>
48	Blauer, Style # 8372 ArmorSkin, S/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: XS	100	<u>N/B</u>	<u>N/B</u>	\$40.00	<u>\$4,000.00</u>	<u>N/B</u>	<u>N/B</u>
49	Blauer, Style # 8372 ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: X-Large	360	<u>N/B</u>	<u>N/B</u>	\$40.00	\$14,400.00	<u>N/B</u>	<u>N/B</u>
50	Blauer, Style # 8371 Long Sleeve - ArmorSkin, S/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black Size: 2X-Large	1 70	<u>N/B</u>	<u>N/B</u>	<u>\$42.25</u>	<u>\$5,070.00</u>	<u>N/B</u>	<u>N/B</u>
51	Blauer, Style # 8371 - ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 3X- Large	28	<u>N/B</u>	<u>N/B</u>	<u>\$53.50</u>	<u>\$1,498.00</u>	<u>N/B</u>	<u>N/B</u>
52	Blauer, Style # 8371 ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: 4X-Large	28	<u>N/B</u>	<u>N/B</u>	<u>\$53.50</u>	<u>\$1,498.00</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
53	Blauer, Style # 8371 ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Large	920	<u>N/B</u>	<u>N/B</u>	<u>\$42.25</u>	\$38,870.00	N/B	<u>N/B</u>
54	Blauer, Style # 8371 ArmorSkin, L/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: Medium	560	<u>N/B</u>	<u>N/B</u>	<u>\$42.25</u>	\$23,660.00	N/B	<u>N/B</u>
55	Blauer, Style # 8371 ArmorSkin, L/S, Poly Blend Street Shirt w/ 3 button center front placket- Color: Black - Size: Small	220	<u>N/B</u>	<u>N/B</u>	<u>\$42.25</u>	\$9,295.00	<u>N/B</u>	<u>N/B</u>
56	Blauer, Style # 8371 ArmorSkin, L/S, PolyBlend Street Shirt w/ 3 button center front placket- Color: Black - Size: X-Large	360	<u>N/B</u>	<u>N/B</u>	<u>\$42.25</u>	\$15,210.00	N/B	<u>N/B</u>
57	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XS Short	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
58	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS Reg	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
59	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS Tall	10	N/B	N/B	N/B	<u>N/B</u>	N/B	<u>N/B</u>
60	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XS/SM Short	10	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
61	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS/SM Reg	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	N/B
62	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: XS/SM Tall	10	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
63	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: SM Short	10	<u>N/B</u>	N/B	<u>\$82.00</u>	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
64	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: SM Reg	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	N/B
65	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: SM Tall	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	N/B	N/B
66	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: S/M Short	10	<u>N/B</u>	N/B	\$82.00	<u>\$820.00</u>	<u>N/B</u>	N/B
67	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: S/M Reg	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
68	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: S/M Tall	30	N/B	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
69	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: M Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	AIDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
70	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	N/B	N/B
71	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: M Tall	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	N/B	N/B
72	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M/L Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	N/B	N/B
73	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M/L Regular	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	N/B
74	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: M/L Tall	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	<u>\$2,460.00</u>	<u>N/B</u>	<u>N/B</u>
75	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L Short	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	<u>\$2,460.00</u>	<u>N/B</u>	N/B
76	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	N/B
77	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L Tall	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
78	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L/XL Short	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE,	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: L/XL Reg	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	N/B	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black – Size: L/XL Tall	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XL Short	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
82	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XL Reg	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: XL Tall	20	<u>N/B</u>	N/B	\$82.00	\$1,640.00	N/B	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 2XL Short	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
85	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 2XL Reg	10	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 2XL Tall	10	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	<u>\$820.00</u>	N/B	<u>N/B</u>
87	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 3XL Short	10	<u>N/B</u>	N/B	<u>\$82.00</u>	\$820.00	N/B	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 3XL Reg	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 3XL Tall	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 4XL Short	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	N/B	<u>N/B</u>
91	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 4XL Reg	10	<u>N/B</u>	<u>N/B</u>	\$82.00	\$820.00	N/B	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 4XL Tall	10	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
93	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 5XL Short	10	<u>N/B</u>	<u>N/B</u>	\$89.00	<u>\$890.00</u>	N/B	<u>N/B</u>
	Blauer, Style # 8370 ArmorSkin, S/S, PolyBlend Outer Vest Carrier - Color: Black - Size: 5XL Reg	10	<u>N/B</u>	<u>N/B</u>	\$89.00	\$890.00	N/B	<u>N/B</u>
95	Blauer, Style # 8370 ArmorSkin, S/S, Poly Blend Outer Vest Carrier - Color: Black - Size: 5XL Tall	10	<u>N/B</u>	<u>N/B</u>	\$89.00	\$890.00	N/B	<u>N/B</u>
96	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS Short	10	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, I	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
97	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS Reg	30	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
98	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS Tall	30	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
99	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS/SM Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
100	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS/SM Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
101	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XS/SM Tall	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
102	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size SM Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
103	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size SM Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
104	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size SM Tall	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
105	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size S/M Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
106	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size S/M Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
107	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size S/M Tall	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
108	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
109	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M Reg	30	N/B	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
110	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M Tall	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
111	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M/L Short	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
112	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M/L Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	N/B	N/B
113	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size M/L Tall	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	N/B
114	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
115	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, IN	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
116	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L Tall	30	N/B	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
117	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L/XL Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
118	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L/XL Reg	30	<u>N/B</u>	<u>N/B</u>	<u>\$82.00</u>	\$2,460.00	<u>N/B</u>	<u>N/B</u>
119	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size L/XL Tall	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	N/B
120	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XL Short	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
121	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XL Reg	30	<u>N/B</u>	<u>N/B</u>	\$82.00	\$2,460.00	<u>N/B</u>	<u>N/B</u>
122	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size XL Tall	20	<u>N/B</u>	<u>N/B</u>	\$82.00	\$1,640.00	N/B	<u>N/B</u>
123	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 2XL Short	10	<u>N/B</u>	<u>N/B</u>	\$82.00	\$820.00	<u>N/B</u>	<u>N/B</u>
124	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 2XL Reg	10	<u>N/B</u>	<u>N/B</u>	\$82.00	\$820.00	<u>N/B</u>	<u>N/B</u>
125	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 2XL Tall	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
126	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 3XL Short	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
127	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 3XL Reg	10	<u>N/B</u>	<u>N/B</u>	\$82.00	<u>\$820.00</u>	<u>N/B</u>	<u>N/B</u>
128	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 3XL Tall	10	<u>N/B</u>	<u>N/B</u>	\$82.00	\$820.00	<u>N/B</u>	<u>N/B</u>
129	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 4XL Short	10	<u>N/B</u>	<u>N/B</u>	\$82.00	\$820.00	<u>N/B</u>	<u>N/B</u>
130	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 4XL Reg	10	<u>N/B</u>	<u>N/B</u>	\$82.00	\$820.00	<u>N/B</u>	<u>N/B</u>
131	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 4XL Tall	10	<u>N/B</u>	<u>N/B</u>	\$82.00	\$820.00	<u>N/B</u>	<u>N/B</u>
132	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 5XL Short	10	<u>N/B</u>	<u>N/B</u>	\$89.00	\$890.00	<u>N/B</u>	<u>N/B</u>
133	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 5XL Reg	10	<u>N/B</u>	<u>N/B</u>	\$89.00	\$890.00	<u>N/B</u>	N/B
134	Blauer, Style #8370 BWR Polyester ArmorSkin, Color: Black – Size 5XL Tall	10	<u>N/B</u>	<u>N/B</u>	\$89.00	\$890.00	<u>N/B</u>	<u>N/B</u>
135	Galls S/S G-Tac Performance Polo, Style # ST125, Size: XS, Colors: All Offered	25	<u>N/B</u>	<u>N/B</u>	<u>\$24.00</u>	<u>\$600.00</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
136	Galls S/S G-Tac Performance Polo, Style # ST125, Size: S, Colors: All Offered	25	<u>\$18.50</u>	<u>\$462.50</u>	<u>\$24.00</u>	<u>\$600.00</u>	<u>N/B</u>	<u>N/B</u>
137	Galls S/S G-Tac Performance Polo, Style # ST125, Size: M, Colors: All Offered	25	<u>\$18.50</u>	<u>\$462.50</u>	\$24.00	\$600.00	<u>N/B</u>	<u>N/B</u>
138	Galls S/S G-Tac Performance Polo, Style # ST125, Size: L, Colors: All Offered	25	<u>\$18.50</u>	<u>\$462.50</u>	\$24.00	\$600.00	<u>N/B</u>	<u>N/B</u>
139	Galls S/S G-Tac Performance Polo, Style # ST125, Size: XL, Colors: All Offered	25	\$18.50	<u>\$462.50</u>	\$24.00	<u>\$600.00</u>	<u>N/B</u>	N/B
140	Galls S/S G-Tac Performance Polo, Style # ST125, Size: 2XL, Colors: All Offered	25	\$19.93	<u>\$498.25</u>	\$26.00	<u>\$650.00</u>	<u>N/B</u>	<u>N/B</u>
141	Galls S/S G-Tac Performance Polo, Style # ST125, Size: 3XL, Colors: All Offered	25	\$22.79	<u>\$569.75</u>	\$27.00	<u>\$675.00</u>	<u>N/B</u>	<u>N/B</u>
142	Galls S/S G-Tac Performance Polo, Style # ST125, Size: 4XL, Colors: All Offered	25	<u>\$24.21</u>	<u>\$605.25</u>	\$28.00	<u>\$700.00</u>	<u>N/B</u>	<u>N/B</u>
143	TYR Tactical PICO-MV Plate Carrier System, TXP3A, Size TBD, Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
144	TYR Tactical Ballistic Plate for PICO MV Plate Carrier - Hard Armor Level 3+ I/C, Size TBD, Color: Black, no substitution	30	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
145	TYR Tactical EPIC Male Ballistic Collar / Yoke 1.5 "Style TXP3A, Size TBD, Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>
146	TYR Tactical EPIC Male Ballistic Throat, Style TXP3A, Size TBD, Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	N/B
147	TYR Tactical Ballistic Bicep/Deltoid Upper Arm Protection, Style TXP3A, Color: Ranger Green, (unit = set) no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
148	TYR Tactical Base Belt with 2" Cobra Buckle, Size TBD, Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
149	TYR Tactical Brokos Belt = TXP3A, Size TBD, Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
150	TYR Tactical Low Roll Pouch, Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>
151	TYR Tactical Ordinance/Breaching Pouch, Horizontal Gas Mask, Color: Ranger Green, no substitution	30	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>
152	TYR Tactical Radio Pouch/Adapter – Lower Back radio, Color: Ranger Green, (unit=set) no substitution	15	<u>N/B</u>	<u>N/B</u>	N/B	N/B	N/B	<u>N/B</u>
153	TYR Tactical General Purpose Pouch, size small 5"x5", Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
154	TYR Tactical Ordinance/Breaching Pouch, Small Dump, Color: Ranger Green, no substitution	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>
155	TYR Tactical Pistol Magazine Pouch, Triple	15	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
156	Walls Men's Poplin Coverall, Style# 1216, Sizes: 50 – 52, Length: Regular, Colors: Black or Navy, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	N/B
157	Walls Men's Poplin Coverall, Style# 1216, Sizes: 40 – 48, Length: Tall, Colors: Black or Navy, no substitutes.		<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
158	Walls Men's Poplin Coverall, Style# 1216, Sizes: 50 - 52, Length: Tall, Colors: Black or Navy, no substitutes.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
159	Edwards 1525-091 Unisex Soft Touch LS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: S – XL, Color: Heather Gray, Royal or Hunter Green or acceptable equal. MANUFACTURER NAME & NO.	100	<u>\$26.45</u>	\$2,645.00	<u>\$19.75</u>	\$1,975.00	N/B	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTR	RIDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
160	Edwards 1525-091 Unisex Soft Touch LS Blended Pique w/pocket, Embroidery of either gold or silver, Size: 2XL-3XL, Colors: Marina Blue, Heather Gray, Royal, Hunter Green or acceptable equal. MANUFACTURER NAME & NO.	15	\$30.47	<u>\$457.05</u>	<u>\$22.50</u>	\$337.50	<u>N/B</u>	<u>N/B</u>
161	Edwards 1525-091 Unisex Soft Touch LS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: 4XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal. MANUFACTURER NAME & NO.	21	<u>\$31.28</u>	<u>\$656.88</u>	<u>\$22.75</u>	<u>\$477.75</u>	<u>N/B</u>	<u>N/B</u>
162	Edwards 1525-091 Unisex Soft Touch SS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: S-XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal. MANUFACTURER NAME & NO.	25	<u>\$25.30</u>	\$632.50	<u>\$19.75</u>	<u>\$493.75</u>	<u>N/B</u>	<u>N/B</u>
163	Edwards 1525-091 Unisex Soft Touch SS Blended Pique w/pocket, Embroidery of either gold or silver, Size: 2XL-3XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal. MANUFACTURER NAME & NO.	15	<u>\$24.62</u>	\$369.30	<u>\$22.50</u>	\$337.50	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, IN	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
164	Edwards 1525-091 Unisex Soft Touch SS Blended Pique w/pocket, Embroidery of either gold or silver, Sizes: 4XL, Colors: Marina Blue, Heather Gray, Royal or Hunter Green or acceptable equal. MANUFACTURER NAME & NO.	21	<u>\$25.22</u>	<u>\$529.62</u>	<u>\$22.75</u>	<u>\$477.75</u>	<u>N/B</u>	<u>N/B</u>
165	Dickies Fleece Lined Hooded Nylon Jacket,Style # JC567, Sizes: S-2XL, Colors: Black or acceptable equal MANUFACTURER NAME & NO.	21	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
166	Dickies Fleece Lined Hooded Nylon Jacket, Style # JC567, Sizes: 3XL-5XL, Colors: Black or acceptable equal MANUFACTURER NAME & NO.	25	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	Blauer Gore-Tex Reversible Jacket w/screen Style #9691, Sizes: S-2XL, Color: Black, no substitutes	11	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
168	Blauer Gore-Tex Shell Pants, Style# 9134, Sizes: S-2XL, Color: Black, no substitutes	11	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
169	Blackinton Custom Jacket Badge, Style # B550Hi-Glo, no substitutes	4	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
170	Blackinton Custom Jacket Badge, Style # B550RH, no substitutes.	8	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
171	Blackinton Motorcycle Helmet Badge, Style # B949, no substitutes.	18	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
172	Chippewa 17" Polishable Trooper Boot, Style #27950, Sizes: All available, Color: Black, no substitutes.	19	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	N/B
172	Blauer Gore-Tex Shell Pants, Style# 9134, Sizes: S-2XL, Color: Black, no substitutes	11	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
173	Blackinton Custom Jacket Badge, Style # B550Hi-Glo, no substitutes.	4	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
174	Blackinton Custom Jacket Badge, Style # B550RH, no substitutes.	8	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>
175	Blackinton Motorcycle Helmet Badge, Style # B949, no substitutes.	18	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
176	Chippewa 17" Polishable Trooper Boot, Style #27950, Sizes: All available, Color: Black, no substitutes.	19	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
177	Condor Summit soft shell jacket, Sizes: S-2XL, Color; Olive Drab Green, Style 602, no substitutes.	12	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	N/B
178	Gibson And Barnes Nomex flying gloves, Style # EGN, Size: All available, Colors: Black or Green, no substitutes.	24	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ЕСО	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
179	Gibson And Barnes Pilot Skull cap solid. Style # HBS1, Size: L, Colors: Black or Green, no substitutes.	24	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	N/B
180	Transaero TacAir Mollie Survival Vest w/o extraction, style AMTC-V1036, (include pouches as standard order; Universal Weapons Holster (AMTC-V1042-BL) Radio Pouch (AMTC-P1060-BL), Magazine/Utility Pocket 2.6" x 6.25" (AMTC-P1040-BL), Cargo Pocket, 5.5" x 3" x1.5" (AMTC-P1041-BL), Floatation Collar (AMTC-R1044-BL), Color: Black, no substitutes.	6	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
181	Transaero TacAir Mollie Survival Vest w/o extraction, style AMTC-V1036-CA, (include pouches as standard order; Universal Weapons Holster (AMTC-V1042-CA) Radio Pouch (AMTC-P1060-CA), Magazine/Utility Pocket 2.6" x 6.25" (AMTC-P1040-CA), Cargo Pocket, 5.5" x 3" x1.5" (AMTC-P1041-CA), Floatation Collar (AMTC-R1044-C, ALPS), Color: Green, no substitutes	6	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	TOTAL BID AMOUNT (PUBLIC S. POLICE SERVICES) LINES 1-181	AFETY:		<u>\$14,241.60</u>		<u>\$377,974.35</u>		<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, IN		
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	
			PUBLIC SAF	ETY: E911					
182.	Women's Cornerstone Polo Long Sleeve, Style# CS411LS, includes embroidery w/ logo on left chest and right chest. Sizes: S –4XL, Colors: Dark Navy.	300	\$35.33	\$10,599.00	<u>\$32.50</u>	\$9,750.00	<u>N/B</u>	N/B	
	MARSHAL'S OFFICE								
183	XTREME BODY ARMOR, ABA XT01, (men) - ABA Ballistic Vest Level IIIA – with additional carrier, Color: Black, no substitutes.	25	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	
184	XTREME BODY ARMOR, ABA XT01, (women) - ABA Ballistic Vest Level IIIA – with additional carrier, Color: Black, no substitutes.	5	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	
185	ABA Uniform Shirt Carrier – Male with adjustable shoulders and 4 front pockets, Color: Black, no substitutes.	25	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	
186	ABA Uniform Shirt Carrier – Female with adjustable shoulders and 4 front pockets, Color: Black, no substitutes.	5	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	
187	Blauer Style # 8372 ArmorSkin Short Sleeve Poly Blend Street Shirt with 3 button centerfront placket, polyester, Sizes: S-XL, Color: Black, no substitutes.	125	<u>N/B</u>	<u>N/B</u>	<u>\$35.00</u>	\$4,375.00	<u>N/B</u>	<u>N/B</u>	



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
188	Blauer Style# 8372 ArmorSkin Short Sleeve Poly Blend Street Shirt with 3 button center front placket, polyester, Sizes: 2XL-4XL, Color: Black, no substitutes.	25	<u>N/B</u>	<u>N/B</u>	\$45.00	\$1,125.00	N/B	<u>N/B</u>
189	Under Armour Men's HeatGear Tactical Compression Fit T- Shirt, short sleeve, Sizes: S – XL, Color: Black, no substitutes.	30	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
190	Under Armour Men's HeatGear Tactical Compression Fit T-Shirt, short sleeve, Sizes: 2XL -3XL, Color: Black, no substitutes	30	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>
191	Under Armour Women's HeatGear Tactical Fit T-Shirt, short sleeve, Sizes: S – XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
192	Under Armour Women's HeatGear Tactical Fit T-Shirt, short sleeve, Sizes: 2XL - 3XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
	TOTAL BID AMOUNT (MARSHAI LINES 183-192	L'S OFFICE)		<u>N/B</u>		\$5,500.00		<u>N/B</u>
		DEK	ALB PEACH	TREE AIRPO	RT			
193	Damascus Sub Zero Duty Gloves, Style # GL236, Size:L-XL, Color: Black	7	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
194	Elbeco Tek3 Cap, Style # HA037, Size: S-XL, Color: Black	7	N/B	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>
195	Lawpro Embroidered Security Watch Cap, Style # HW786, Size: S-L, Colors: Black, Navy	12	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>
196	5.11 Tactical Utility Polo, long sleeve, Embroidery on left side of the chest, Style # ST454, Mfg. #72057, Sizes: S-3XL, Color: White	50	<u>N/B</u>	<u>N/B</u>	\$30.00	\$1,500.00	<u>N/B</u>	<u>N/B</u>
197	5.11 Tactical Utility Polo, short sleeve, Embroidery on left side of the chest, Style # ST454, Mfg. #41180, Sizes: S-3XL, Color: White	50	<u>N/B</u>	<u>N/B</u>	\$30.00	\$1,500.00	<u>N/B</u>	<u>N/B</u>
198	Galls Commando Crew Neck Acrylic Sweater, Style # ST018, Sizes: L-3XL, Color: Navy MANUFACTURER NAME & NO.	10	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
199	Tru-Spec H20 Proof 24/7 Weathershield All Season Parka, Style # JA959, Sizes: L- 3XL, Color: Black	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
200	Port Authority, Long Sleeve Silk Touch Polo with Pocket, Style # K500LSP, Sizes: S-3XL, Colors: Navy, White	20	<u>\$19.03</u>	<u>\$380.60</u>	<u>\$22.00</u>	<u>\$440.00</u>	<u>\$15.95</u>	<u>\$319.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
201	Port Authority, Long Sleeve Silk Touch Polo with Pocket, Style # K500LSP, Sizes: S- 3XL, Color: White, Navy	20	<u>\$19.03</u>	\$380.60	\$22.00	<u>\$440.00</u>	<u>\$15.95</u>	\$319.00
202	Jerzees Pocket Polo Shirt, Short Sleeve, Style # 436P, Size: S-3XL, Colors: Navy, White	20	<u>\$11.50</u>	\$230.00	<u>\$15.50</u>	\$310.00	\$8.33	<u>\$166.60</u>
203	Jerzees Pocket Polo Shirt, Short Sleeve, Style # 436P, Size: S-3XL, Color: White, Navy	20	<u>\$11.50</u>	<u>\$230.00</u>	<u>\$15.50</u>	<u>\$310.00</u>	\$8.33	<u>\$166.60</u>
204	511 Adjustable Uniform Hat Sizes: S-3XL, Color: White	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$6.70</u>	<u>\$134.00</u>
205	511 Performance Polo Sizes: S-3XL, Color:White MANUFACTURER NAME & NO.	20	<u>N/B</u>	<u>N/B</u>	<u>\$37.00</u>	<u>\$740.00</u>	<u>N/B</u>	<u>N/B</u>
206	1-3/4" Garrison Belt Sizes: S-3XL, Color: White	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
207	Drfit Polo Sizes: L-3XL, Color: White/ Navy MANUFACTURER NAME & NO.	20	<u>N/B</u>	<u>N/B</u>	\$39.00	<u>\$780.00</u>	<u>\$10.64</u>	<u>\$212.80</u>
208	Button down Shirt: L-3XL, Color: White MANUFACTURER NAME & NO.	20	<u>N/B</u>	<u>N/B</u>	<u>\$17.50</u>	\$350.00	<u>\$14.19</u>	\$283.80



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
209	Summer + Winter Coveralls: L-3XL, Color: Navy MANUFACTURER NAME & NO.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$26.60</u>	\$532.00
210	Waist Length Coat: L-3XL, Color: Navy MANUFACTURER NAME & NO.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$28.70</u>	\$574.00
211	Under Armour Men's HeatGear Tactical Compression Fit T- Shirt, short sleeve, Sizes: S – XL, Color: Black, no substitutes.	30	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>
212	Under Armour Men's HeatGear Tactical Compression Fit T-Shirt, short sleeve, , Sizes: 2XL -3XL, Color: Black, no substitutes.	30	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>
213	Under Armour Women's HeatGear Tactical Fit T-Shirt, short sleeve, Sizes: S – XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
214	Under Armour Women's HeatGear Tactical Fit T-Shirt, short sleeve, Sizes: 2XL - 3XL, Color: Black, no substitutes.	10	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	ΓΙΟΝΑL	NAFECO		E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
215	Fruit of Loom Sweatshirt Hoodie, Style# 18130, long sleeve, 100% Cotton, Sizes: S – XL, Colors: Black, White, Navy or acceptable equal. MANUFACTURER NAME & NO.	66	<u>\$16.90</u>	\$1,115.40	<u>\$17.25</u>	<u>\$1,138.50</u>	<u>\$14.43</u>	\$952.38
216	Fruit of Loom Sweatshirt Hoodie, Style# 18130, long sleeve, 100% Cotton, Sizes: 2XL – 3XL, Colors: Black, White, Navy or acceptable equal. MANUFACTURER NAME & NO.	66	<u>\$19.40</u>	\$1,280.40	<u>\$20.00</u>	\$1,320.00	<u>\$19.29</u>	<u>\$1,273.14</u>
217	Fruit of Loom Sweatshirt Hoodie, Style# 18130, long sleeve, 1000% Cotton, Sizes: 4XL-5XL, Colors: Black, White, Navy or acceptable equal. MANUFACTURER NAME & NO.	66	<u>N/B</u>	<u>N/B</u>	<u>\$22.00</u>	<u>\$1,452.00</u>	<u>\$19.50</u>	<u>\$1,287.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	ΓΙΟΝΑL	NAF	ЕСО	E.R. PARTR	RIDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
218	Fruit Of The Loom Heavy Crew Neck Sweatshirt, Style# 18430, , long sleeve, 90% Cotton 10% Polyester, Sizes: Small – XL, Color: All available or acceptable equal. MANUFACTURER NAME & NO.	10	<u>\$15.21</u>	<u>\$152.10</u>	<u>\$11.50</u>	<u>\$115.00</u>	<u>\$8.62</u>	<u>\$86.20</u>
219	Fruit Of The Loom Heavy Crew Neck Sweatshirt, Style# 18430, long sleeve, 90% Cotton 10% Polyester, Sizes: 2XL – 3XL, Color: Navy or acceptable equal. MANUFACTURER NAME & NO.	10	<u>\$18.45</u>	<u>\$184.50</u>	<u>\$13.50</u>	<u>\$135.00</u>	<u>\$12.30</u>	\$123.00
220	Galls Flying Cross Command Wear Tactical Pants, Style# TR652, 65% Polyester 35% Cotton, Sizes: 28 – 42 Waist, Colors: Navy, Black, Khaki or acceptable equal. MANUFACTURER NAME & NO.	10	<u>N/B</u>	<u>N/B</u>	<u>\$66.00</u>	<u>\$660.00</u>	<u>\$19.05</u>	<u>\$190.50</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
221	Galls Flying Cross Command Wear Tactical Pants, Style# TR652, 65% Polyester 35% Cotton, Sizes: 44 – 56 Waist, Colors: Navy, Black, Khaki or acceptable equal. MANUFACTURER NAME & NO.	10	<u>N/B</u>	<u>N/B</u>	<u>\$75.00</u>	<u>\$750.00</u>	<u>\$21.00</u>	<u>\$210.00</u>
222	Galls 6-pocket BDU Shorts, Style# TRO78, 65% Polyester 35% Cotton Ripstop, Sizes: S – XL, Colors: Navy, Khaki, Green or acceptable equal. MANUFACTURER NAME & NO.	120	<u>N/B</u>	<u>N/B</u>	<u>\$18.25</u>	<u>\$2,190.00</u>	<u>N/B</u>	<u>N/B</u>
223	Galls 6-pocket BDU Shorts, Style# TRO78, 65% Polyester 35% Cotton Ripstop, Size: 2XL, Colors: Navy, Khaki, Green or acceptable equal. MANUFACTURER NAME & NO.	120	<u>N/B</u>	<u>N/B</u>	<u>\$18.25</u>	<u>\$2,190.00</u>	<u>N/B</u>	<u>N/B</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ЕСО	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
224	Galls Gear Leather Trouser Belt, Style# LP157, Sizes: 34 – 40 Waist, Finish: Basket weave, Colors: Brass, Silver or acceptable equal. MANUFACTURER NAME & NO.	7	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
225	Galls Gear Leather Trouser Belt, Style# LP157, Sizes: 42-44 Waist, Finish: Basket weave, Colors: Brass, Silver or acceptable equal. MANUFACTURER NAME & NO.	7	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
226	Galls Nylon Windbreaker, Style# JA138, Sizes: S– XL, Colors: All available or acceptable equal. MANUFACTURER NAME & NO.	10	<u>N/B</u>	<u>N/B</u>	\$31.00	\$310.00	<u>\$25.27</u>	<u>\$252.70</u>
227	Galls Nylon Windbreaker, Style# JA138, Sizes: 2XL-4XL, Colors: All available colors or acceptable equal. MANUFACTURER NAME & NO.	10	<u>N/B</u>	<u>N/B</u>	\$35.00	<u>\$350.00</u>	<u>\$27.93</u>	<u>\$586.53</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
228	Galls Three Season Jacket, Style# JA085, Sizes: Small – XL, Colors: Black or Navy or acceptable equal. MANUFACTURER NAME & NO.	10	<u>N/B</u>	<u>N/B</u>	<u>\$47.00</u>	<u>\$470.00</u>	<u>\$34.58</u>	<u>\$345.80</u>
229	Galls Three Season Jacket, Style# JA085, Sizes: 2XL – 4XL, Colors: Black or Navy or acceptable equal. MANUFACTURER NAME & NO.	10	<u>N/B</u>	<u>N/B</u>	<u>\$51.00</u>	<u>\$510.00</u>	<u>\$35.91</u>	<u>\$359.10</u>
230	Big Ben PT62, Khaki, 65% polyester and 35% cotton, Sizes: Regular length, 30-42 waist Colors: All available or acceptable equal. MANUFACTURER NAME & NO.	1500	<u>N/B</u>	<u>N/B</u>	<u>\$14.52</u>	\$21,780.00	<u>\$18.75</u>	<u>\$28,125.00</u>
231	Gildan, T-Shirt with pockets with department screen print logo, Style# G2300, short sleeve, 100% Preshrunk Cotton, Sizes: S - XL, Colors: Navy, acceptable equal. MANUFACTURER NAME & NO.	180	<u>\$8.63</u>	\$1,553.40	\$10.00	\$1,800.00	<u>\$10.25</u>	<u>\$1,845.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

COMPANY		SAFEGUARD PROMO PRODUC	ΓΙΟΝΑL	NAF	NAFECO E.R. PAR		RIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
232	Gildan, T-Shirt with pockets with department screen print logo, Style# G2300, short sleeve, 100% Preshrunk Cotton, Sizes: 2XL - 4XL, Color: Navy or acceptable equal. MANUFACTURER NAME & NO.	165	<u>\$12.35</u>	<u>\$2,037.75</u>	<u>\$14.00</u>	\$2,310.00	<u>\$12.88</u>	<u>\$2,125.20</u>
	TOTAL BID AMOUNT (DEKALB PEACHTREE AIRPORT) LINES 193-232			<u>\$7,544.75</u>		<u>\$43,850.50</u>		<u>\$40,469.35</u>

WATERSHED MANAGEMENT								
233	Aramark, WearGuard, High Visibility Short- Sleeve T-Shirt with Reflective Stripes, Style #DEF-537, Sizes: S-XL, in accordance with MS.	20	<u>N/B</u>		<u>\$22.00</u>	<u>\$440.00</u>	<u>\$13.24</u>	<u>\$264.80</u>
234	Aramark, WearGuard, High Visibility Short- Sleeve T-Shirt with Reflective Stripes, Style #DEF-537, Sizes: 2XL-3XL, in accordance with MS.	50	<u>N/B</u>	<u>N/B</u>	\$23.00	<u>\$1,150.00</u>	\$13.77	<u>\$688.50</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	ΓΙΟΝΑL	NAF	ЕСО	E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
235	Aramark, WearGuard, High Visibility Short- Sleeve T-Shirt with Reflective Stripes, Style #DEF-537, Sizes: 4XL-5XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>\$26.00</u>	\$2,600.00	\$14.43 \$15.10: Size 5XL	\$1,443.00
236	Aramark, WearGuard, High Visibility Long- Sleeve T-Shirt with Reflective Stripes, Style #CSG-689, Sizes: S-XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>\$26.00</u>	\$2,600.00	<u>\$21.61</u>	<u>\$2,161.00</u>
237	Aramark, WearGuard, High Visibility Long- Sleeve T-Shirt with Reflective Stripes, Style #CSG-689, Sizes: 2XL-3XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>\$27.00</u>	\$2,700.00	<u>\$22.28</u>	\$2,228.00
238	Aramark, WearGuard, High Visibility Long- Sleeve T-Shirt with Reflective Stripes, Style #CSG-689, Sizes: 4XL-5XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>\$29.00</u>	<u>\$2,900.00</u>	\$22.95 \$23.60:Size 5XL	<u>\$2,295.00</u>
239	Safety Shirt – High Visibility Long Sleeve Pocket Shirt with Reflective Stripes, Style #VEA-201-CT, Sizes: S-XL, Color: Fluorescent Yellow-Green	150	<u>N/B</u>	N/B	<u>\$26.50</u>	\$3,975.00	<u>\$22.55</u>	\$3,382.50
240	Safety Shirt – High Visibility Long Sleeve Pocket Shirt with Reflective Stripes, Style #VEA-201-CT, Size: 2XL, Color: Fluorescent Yellow-Green	150	<u>N/B</u>	<u>N/B</u>	<u>\$27.50</u>	<u>\$4,125.00</u>	<u>\$22.55</u>	\$3,382.50



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	ΓΙΟΝΑL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
241	Safety Shirt – High Visibility Long Sleeve Pocket Shirt with Reflective Stripes, Style #VEA-201-CT, Size: 3XL, Color: Fluorescent Yellow-Green	150	<u>N/B</u>	<u>N/B</u>	<u>\$27.50</u>	<u>\$4,125.00</u>	<u>\$23.21</u>	\$3,481.50
242	Safety Shirt – High Visibility Long Sleeve Pocket Shirt with Reflective Stripes, Style #VEA-201-CT, Size: 4XL, Color: Fluorescent Yellow-Green	150	<u>N/B</u>	<u>N/B</u>	\$29.00	\$4,350.00	\$23.88	\$3,582.00
243	Safety Shirt – High Visibility Long Sleeve Pocket Shirt with Reflective Stripes, Style #VEA-201-CT, Size: 5XL, Color: Fluorescent Yellow-Green	50	<u>N/B</u>	<u>N/B</u>	<u>\$29.00</u>	<u>\$1,450.00</u>	<u>\$24.41</u>	<u>\$1,220.50</u>
244	Safety Shirt – High Visibility Long Sleeve Pocket Shirt with Reflective Stripes, Style #VEA-201-CT, Size: 6XL, Color: Fluorescent Yellow-Green	50	<u>N/B</u>	<u>N/B</u>	\$30.00	\$1,500.00	<u>\$25.07</u>	\$1,253.50
245	Aramark, WearGuard, Lightweight Class 2 High Visibility Non-Breakaway Vest with Reflective Stripes, Style #DEF-1085, Sizes: S- XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	\$10.00	\$1,000.00	<u>\$5.32</u>	<u>\$532.00</u>
246	Aramark, WearGuard, Lightweight Class 2 High Visibility Non-Breakaway Vest with Reflective Stripes, Style #DEF-1085, Size: 2XL, in accordance with MS		<u>N/B</u>	<u>N/B</u>	\$10.00	\$2,000.00	<u>\$5.32</u>	<u>\$532.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
247	Aramark, WearGuard, Lightweight Class 2 High Visibility Non-Breakaway Vest with Reflective Stripes, Style #DEF-1085, Size:3XL, in accordance with MS.	300	<u>N/B</u>	<u>N/B</u>	\$10.00	\$3,000.00	<u>\$6.00</u>	<u>\$18.00</u>
248	OccuNomix High Visibility Classic Mesh Standard Safety Vest, Style # LUX- SSGC,Sizes: S-XL, in accordance with MS.	250	<u>N/B</u>	<u>N/B</u>	<u>\$18.50</u>	\$4,625.00	<u>\$8.78</u>	\$2,195.00
249	OccuNomix High Visibility Classic Mesh Standard Safety Vest, Style # LUX-SSGC, Size: 2XL, in accordance with MS.	350	<u>N/B</u>	<u>N/B</u>	<u>\$18.50</u>	<u>\$6,475.00</u>	<u>\$8.78</u>	\$3,073.00
250	OccuNomix High Visibility Classic Mesh Standard Safety Vest, Style # LUX- SSGC,Size: 3XL, in accordance with MS.	350	<u>N/B</u>	<u>N/B</u>	<u>\$18.50</u>	<u>\$6,475.00</u>	\$9.44	\$3,304.00
251	OccuNomix High Visibility Classic Mesh Standard Safety Vest, Style # LUX-SSGC, Size: 4XL, in accordance with MS.	300	<u>N/B</u>	<u>N/B</u>	<u>\$18.50</u>	<u>\$5,550.00</u>	<u>\$10.11</u>	\$3,033.00
252	OccuNomix High Visibility Classic Mesh Standard Safety Vest, Style # LUX-SSGC, Size: 5XL, in accordance with MS.	250	<u>N/B</u>	<u>N/B</u>	<u>\$18.50</u>	<u>\$4,625.00</u>	<u>\$10.77</u>	\$2,692.50



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
253	OccuNomix High Visibility Classic Mesh Standard Safety Vest, Style # LUX-SSGC, Size: 6XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$11.44</u>	<u>\$1,144.00</u>
254	Aramark, WearGuard, Lightweight Class 2 High Visibility Breakaway Vest with Reflective Stripes, Style #DEF-1080, Sizes: S- XL, in accordance with MS.	900	<u>N/B</u>	<u>N/B</u>	<u>\$13.00</u>	\$11,700.00	<u>\$8.78</u>	<u>\$7,902.00</u>
255	Aramark, WearGuard, Lightweight Class 2 High Visibility Breakaway Vest with Reflective Stripes, Style #DEF-1080, Size: 2XL, in accordance with MS.	350	<u>N/B</u>	<u>N/B</u>	<u>\$14.00</u>	\$4,900.00	<u>\$8.78</u>	\$3,073.00
256	Aramark, WearGuard, Lightweight Class 2 High Visibility Breakaway Vest with Reflective Stripes, Style #DEF-1080, Size:3XL, in accordance with MS.	300	N/B	<u>N/B</u>	<u>\$14.00</u>	\$4,200.00	<u>\$9.44</u>	\$2,832.00
257	RAF Big and Tall Safety Class 2 High Visibility Breakaway Vest with Reflective Stripes, Style #VEA-502, Size: 4XL, in accordance with MS.	250	<u>N/B</u>	<u>N/B</u>	<u>\$15.00</u>	\$3,750.00	<u>\$10.11</u>	\$2,527.50
258	RAF Big and Tall Safety Class 2 High Visibility Breakaway Vest with ReflectiveStripes, Style #VEA-502, Size: 5XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>\$15.50</u>	<u>\$1,550.00</u>	<u>\$10.77</u>	\$1,077.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
259	RAF Big and Tall Safety Class 2 High Visibility Breakaway Vest with Reflective Stripes, Style #VEA-502, Size: 6XL, in accordance with MS.	50	<u>N/B</u>	<u>N/B</u>	<u>\$17.00</u>	<u>\$850.00</u>	<u>\$11.44</u>	<u>\$572.00</u>
260	Aramark, WearGuard, Class 2 High Visibility Three Season Jacket with Reflective Stripes,Style #DEF-415, Size: S- XL, in accordance with MS.	120	<u>N/B</u>	<u>N/B</u>	<u>\$56.00</u>	<u>\$6,720.00</u>	<u>\$47.81</u>	\$5,737.20
261	Aramark, WearGuard, Class 2 High Visibility Three Season Jacket with Reflective Stripes, Style #DEF-415, Sizes: 2XL-3XL, in accordance with MS.	60	<u>N/B</u>	<u>N/B</u>	<u>\$58.00</u>	\$3,480.00	<u>\$49.14</u>	<u>\$2,948.40</u>
262	Aramark, WearGuard, Class 2 High Visibility Three Season Jacket with Reflective Stripes, Style #DEF-415, Sizes: 4XL-5XL, in accordance with MS.	60	<u>N/B</u>	<u>N/B</u>	<u>\$61.00</u>	\$3,660.00	<u>\$51.80</u>	\$3,108.00
263	RAF Big and Tall Safety Class 2 High Visibility Three Season Water Resistant Jacket with Reflective Stripes, Style #VEA- 421-ST,Size: 5XL, in accordance with MS.	30	<u>N/B</u>	<u>N/B</u>	<u>\$61.00</u>	\$1,830.00	<u>\$53.13</u>	\$1,593.90
264	RAF Big and Tall Safety Class 2 High Visibility Three Season Water Resistant Jacket with Reflective Stripes, Style #VEA- 421-ST, Size: 6XL, in accordance with MS.	30	<u>N/B</u>	<u>N/B</u>	\$62.00	<u>\$1,860.00</u>	<u>\$54.46</u>	\$1,633.80



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
265	Aramark Neese Air Tex High Visibility Rain Parka, Style # DEF-816, Sizes: S-XL	375	<u>N/B</u>	<u>N/B</u>	\$41.00	\$15,375.00	<u>N/B</u>	N/B
266	Aramark Neese Air Tex High Visibility Rain Parka, Style # DEF-816, Sizes:2XL- 3XL	400	<u>N/B</u>	<u>N/B</u>	\$43.00	\$17,200.00	N/B	N/B
267	Neese Viz Air Tex ANSI Class 3 High Visibility Parka with 2 Piece Tuck-Away Hood, Style # 9100APK, Size: 4XL	200	<u>N/B</u>	<u>N/B</u>	<u>\$44.00</u>	\$8,800.00	N/B	<u>N/B</u>
268	Neese Viz Air Tex ANSI Class 3 High Visibility Parka with 2 Piece Tuck-Away Hood, Style # 9100APK, Size: 5XL	150	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	N/B	<u>N/B</u>
269	Neese Viz Air Tex ANSI Class 3 High Visibility Parka with 2 Piece Tuck-Away Hood, Style # 9100APK, Size: 6XL	75	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
270	Neese Rain Pants, Style #817, Sizes: S-XL	225	N/B	<u>N/B</u>	<u>\$14.00</u>	\$3,150.00	N/B	<u>N/B</u>
271	Neese Rain Pants, Style #817, Sizes: 2XL-3XL	400	N/B	<u>N/B</u>	\$17.00	\$6,800.00	N/B	<u>N/B</u>
272	Neese Air Tex Class 3 High Vis Pants, Style#9100ET, Sizes: 4XL-6XL	425	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	N/B
273	High Vis Ranger Style Hat with Contrasting Trim, Style # VEA-804-ST	500	<u>N/B</u>	<u>N/B</u>	\$11.00	\$5,500.00	<u>\$6.65</u>	\$3,325.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
274	WearGuard Enhanced Visibility Cap, Style # DEF-7112	250	<u>N/B</u>	<u>N/B</u>	<u>\$10.50</u>	\$2,625.00	\$5.99	\$1,497.50
275	Enhanced Vis Short-Sleeve T-Shirt, No Stripes, Style # DEF-685, Sizes: S-XL	295	<u>N/B</u>	<u>N/B</u>	\$14.00	\$4,130.00	\$9.24	\$2,725.80
276	Enhanced Vis Short-Sleeve T-Shirt, No Stripes, Style # DEF-685, Sizes: 2XL-3XL	300	<u>N/B</u>	N/B	<u>\$15.00</u>	\$4,500.00	<u>\$9.78</u>	\$2,934.00
277	High Vis Pocket Short Sleeve T-Shirt with Pocket, Style # VEA-100B, Size: 4XL	100	<u>N/B</u>	<u>N/B</u>	\$16.00	\$1,600.00	\$10.44	\$1,044.00
278	High Vis Pocket Short Sleeve T-Shirt with Pocket, Style # VEA-100B, Size: 5XL	50	<u>N/B</u>	N/B	<u>\$17.00</u>	\$850.00	<u>\$11.11</u>	<u>\$555.50</u>
279	High Vis Pocket Short Sleeve T-Shirt with Pocket, Style # VEA-100B, Size: 6XL	20	<u>N/B</u>	<u>N/B</u>	\$18.00	\$360.00	<u>\$11.78</u>	\$235.60
280	WearGuard Enhanced Visibility Long- Sleeved T-Shirt (No Stripes), Style # DEF- 690, Sizes: S-XL, in accordance with MS.	300	<u>N/B</u>	<u>N/B</u>	<u>\$15.00</u>	<u>\$4,500.00</u>	<u>\$12.79</u>	\$3,837.00
281	WearGuard Enhanced Visibility Long- Sleeved T-Shirt (No Stripes), Style # DEF- 690, Sizes: 2XL-3XL, in accordance with MS.	300	<u>N/B</u>	<u>N/B</u>	<u>\$17.00</u>	\$5,100.00	<u>\$11.64</u>	\$3,492.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ЕСО	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
282	Enhanced High Visibility Pocket Long- Sleeved T-Shirt (No Stripes), Style # VEA- 200B, Size: 4XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>\$17.00</u>	\$1,700.00	<u>\$12.30</u>	\$1,230.00
283	Enhanced High Visibility Pocket Long- Sleeved T-Shirt (No Stripes), Style # VEA- 200B, Size: 5XL, in accordance with MS.	50	<u>N/B</u>	<u>N/B</u>	<u>\$18.00</u>	\$900.00	<u>\$12.97</u>	<u>\$648.50</u>
284	Enhanced High Visibility Pocket Long- Sleeved T-Shirt (No Stripes), Style # VEA- 200B, Size: 6XL, in accordance with MS.	20	<u>N/B</u>	<u>N/B</u>	<u>\$19.00</u>	\$380.00	<u>\$13.63</u>	\$272.60
285	WearGuard, High Visibility Class 3 Short Sleeve Vest, Style # WOO-11185 – M-XL, in accordance with MS.	100	N/B	<u>N/B</u>	<u>\$12.50</u>	\$1,250.00	<u>\$7.91</u>	<u>\$791.00</u>
286	WearGuard, High Visibility Class 3 Short Sleeve Vest, Style # WOO-11185 – 2XL- 3XL, in accordance with MS.	100	<u>N/B</u>	<u>N/B</u>	<u>\$12.50</u>	<u>\$1,250.00</u>	<u>\$7.91</u>	<u>\$791.00</u>
287	WearGuard, High Visibility Class 3 Short Sleeve Vest, Style # WOO-11185 – 4XL- 5XL, in accordance with MS	100	<u>N/B</u>	<u>N/B</u>	<u>\$12.50</u>	\$1,250.00	<u>\$7.91</u>	\$791.00
288	Aramark Men's Lab Coat, Snap-Front with Pockets, Style # GO-1541, S-XL, Color: Navy, in accordance with MS.	75	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$17.50</u>	\$1,312.50



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
289	Aramark Men's Lab Coat, Snap-Front with Pockets, Style # GO-1541, 2XL-5XL, Color: Navy, in accordance with MS	75	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	\$21.00	<u>\$1,575.00</u>
290	Aramark Men's Lab Coat, Snap-Front with Pockets, Style # GO-1541, S-XL, Color: White, in accordance with MS.	75	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$14.83</u>	\$1,112.25
291	Aramark Men's Lab Coat, Snap-Front with Pockets, Style # GO-1541, 2XL-5XL, Color: White, in accordance with MS.	75	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$17.78</u>	\$1,333.50
292	Red Kap Short Sleeve Speedsuit. Men's Zip Front Work Coverall. Style # CP 30/40, Sizes: S-XL, Color: Navy	100	<u>N/B</u>	<u>N/B</u>	<u>\$35.00</u>	<u>\$3,500.00</u>	<u>\$26.60</u>	\$2,660.00
293	Red Kap Short Sleeve Speedsuit. Men's Zip Front Work Coverall. Style # CP 30/40, Sizes: 2XL-4XL, Color: Navy	100	<u>N/B</u>	<u>N/B</u>	\$40 \$65: Size 4XL	\$4,000.00	<u>\$31.95</u>	\$3,195.00
294	Red Kap Long Sleeve Insulated Twill Coveralls, Style # CT30NV-S, Sizes: S- XL, Color: Navy	100	<u>N/B</u>	<u>N/B</u>	<u>\$64.00</u>	\$6,400.00	<u>\$56.95</u>	<u>\$5,695.00</u>
295	Red Kap Long Sleeve Insulated Twill Coveralls, Style # CT30NV-S, Sizes: 2XL- 4XL, Color: Navy	100	<u>N/B</u>	<u>N/B</u>	\$75.00	<u>\$7,500.00</u>	<u>\$68.20</u>	\$6,820.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
296	Red Kap Men's Perma-Lined Panel Jacket, Style # JT50, Sizes: S-XL, Color: Navy	100	<u>N/B</u>	<u>N/B</u>	\$36.00	\$3,600.00	<u>\$30.68</u>	\$3,068.00
297	Red Kap Men's Perma-Lined Panel Jacket, Style # JT50, Sizes: 2XL-4XL, Color: Navy	100	<u>N/B</u>	<u>N/B</u>	<u>\$43.00</u>	\$4,300.00	<u>\$36.82</u>	\$3,682.00
298	Wear Guard Long Sleeve Button-Down Collar Work Shirt, Style # GGS-1005, Sizes:S-3XL, Colors: Navy and Khaki	100	<u>N/B</u>	<u>N/B</u>	<u>\$25.00</u>	\$2,500.00	<u>\$16.90</u>	<u>\$1,690.00</u>
299	Wear Guard Long Sleeve Button-Down Collar Work Shirt, Style # GGS-1005, Sizes:4XL- 5XL, Colors: Navy and Khaki	100	<u>N/B</u>	<u>N/B</u>	\$31 \$36: Size 5XL	<u>\$3,100.00</u>	\$20.30	\$2,030.00
300	Wear Guard Short Sleeve Button-Down Collar Work Shirt, Style #GGS-1019, Sizes: S-XL, Colors: Navy and Khaki	100	<u>N/B</u>	<u>N/B</u>	\$22.00	\$2,200.00	\$15.30	<u>\$1,530.00</u>
301	Wear Guard Short Sleeve Button-Down Collar Work Shirt, Style #GGS-1019, Sizes: 2XL- 3XL, Colors: Navy and Khaki	100	<u>N/B</u>	<u>N/B</u>	\$25.00	<u>\$2,500.00</u>	<u>\$18.35</u>	<u>\$1,835.00</u>
302	Wear Guard Short Sleeve Button-Down Collar Work Shirt, Style #GGS-1019, Sizes: 4XL- 5XL, Colors: Navy and Khaki	100	<u>N/B</u>	<u>N/B</u>	\$25.00	<u>\$2,500.00</u>	<u>\$18.35</u>	<u>\$1,835.00</u>
303	Aramark Dura-Press Long Sleeve Shirt, Style # DEF-1221, Sizes: S-XL, Color: Taupe	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$17.05</u>	<u>\$1,705.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
	Aramark Dura-Press Long Sleeve Shirt, Style # DEF-1221, Sizes: 2XL-3XL, Color: Taupe	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$20.45</u>	<u>\$2,045.00</u>
305	Aramark Dura-Press Long Sleeve Shirt, Style # DEF-1221, Sizes: 4XL-5XL, Color: Taupe	100	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$20.45</u>	\$2,045.00
306	Aramark Dura-Press Short Sleeve Shirt, Style # DEF-1218, Sizes: S-XL, Color: Taune	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$16.68</u>	\$1,668.00
	Aramark Dura-Press Short Sleeve Shirt, Style # DEF-1218, Sizes: 2XL-3XL, Color: Taupe	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	\$20.00	\$2,000.00
	Aramark Dura-Press Short Sleeve Shirt, Style # DEF-1218, Sizes: 4XL-5XL, Color: Taupe	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$40.00</u>	\$4,000.00
	Aramark Men's Relaxed Fit Industrial Work Pants, Style # DEF-2501, Sizes: 31/26 - 50/35, Colors: Navy and Khaki	400	<u>N/B</u>	<u>N/B</u>	\$16.00	\$6,400.00	<u>\$17.10</u>	\$6,840.00
310	Aramark Men's Industrial Cargo Pants, Style # DEF-2052, Sizes: 28/26 – 50/34, Colors: Navy and Khaki	400	N/B	<u>N/B</u>	\$24.00	\$9,600.00	<u>\$20.62</u>	\$8,248.00
	Aramark Men's Flat Front Industrial Work Pants, Style # GGS-201, Sizes: 28/26 – 58/26, Color: Grey	400	<u>N/B</u>	<u>N/B</u>	<u>\$16.00</u>	\$6,400.00	<u>\$17.10</u>	<u>\$6,840.00</u>
	Aramark 100% Cotton Twill Coveralls, Style # GGS-314, Sizes: S-XL, Color: Navy	200	<u>N/B</u>	<u>N/B</u>	\$39.00	\$7,800.00	<u>\$32.55</u>	<u>\$6,510.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
313	Aramark 100% Cotton Twill Coveralls, Style # GGS-314, Sizes: 2XL-3XL, Color: Navy	200	<u>N/B</u>	<u>N/B</u>	<u>\$45.00</u>	\$9,000.00	<u>\$39.05</u>	<u>\$7,810.00</u>
314	Dickies Women's Industrial Short Sleeve Work Shirt, Style # FS-5350, Sizes: S- 2XL, Colors: Light Blue and Navy	200	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$12.38</u>	<u>\$2,476.00</u>
315	Dickies Women's Poplin Shirt, Style # FL- 136, Sizes: S-2XL, Colors: Light Blue and White	200	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$15.71</u>	\$3,142.00
316	Dickies Women's Poplin Shirt, Style # FL-136, Sizes: 3XL-4XL, Colors: Light Blue and White	200	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	\$17.29	\$3,458.00
317	Aramark Women's Industrial Cargo Pants, Style # GGS-2519, Sizes: 4/28 – 20/32, Colors: Navy and Khaki	400	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$22.38</u>	<u>\$8,952.00</u>
318	Aramark Women's Flat-Front Industrial Work Pants, Style # GGS-236, Sizes: 4/28-24/33,	400	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	\$18.00	<u>\$72.00</u>
319	Image Knit Polo Shirt, 100% Fortrel Polyester, Style # SK-02, Sizes: S-XL, Color: Royal Blue	100	<u>N/B</u>	<u>N/B</u>	<u>\$15.00</u>	\$1,500.00	<u>\$14.40</u>	<u>\$1,440.00</u>
320	Image Knit Polo Shirt, 100% Fortrel Polyester, Style # SK-02, Sizes: 2XL-6XL, Color: Royal Blue	100	<u>N/B</u>	<u>N/B</u>	\$19.00	\$1,900.00	<u>\$17.30</u>	<u>\$1,730.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
321	Port Authority Men's Dry Textured UV Protection Polo Shirt, Style # K-572, Sizes: S- XL, Colors: Royal Blue and Navy Blue	100	<u>N/B</u>	<u>N/B</u>	<u>\$15.00</u>	<u>\$1,500.00</u>	<u>\$9.31</u>	\$931.00
	Port Authority Men's Dry Textured UV Protection Polo Shirt, Style # K-572, Sizes: 2XL – 4XL, Colors: Royal Blue and Navy Blue	100	<u>N/B</u>	<u>N/B</u>	<u>\$19.00</u>	\$1,900.00	<u>\$10.65</u>	<u>\$1,065.00</u>
323	Aramark Men's Long Sleeve Team Casual Blended Twill Work Shirt, Style # GGS- 149, Sizes: S-XL, Colors: Navy, Burgundy, Heather Grey, Ocean Blue	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$21.61</u>	\$2,161.00
324	Aramark Men's Long Sleeve Team Casual Blended Twill Work Shirt, Style # GGS- 149, Sizes: 2XL-4XL, Colors: Navy, Burgundy, Heather Grey, Ocean Blue	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$26.00</u>	<u>\$2,600.00</u>
325	Aramark Men's Long Sleeve Ultimate Oxford Work Shirt, Style # GGS-1400, Sizes: S-XL, Colors: Cobalt Blue, Light Blue, Stone, Light Grey, White w/Blue Stripes and White	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$16.97</u>	<u>\$1,697.00</u>
326	Aramark Men's Long Sleeve Ultimate Oxford Work Shirt, Style # GGS-1400, Sizes: 2XL – 3XL, Colors: Cobalt Blue, Light Blue, Stone, Light Grey, White w/Blue Stripes and White	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$20.36</u>	\$2,036.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
327	Women's Wear Guard WearTec Cotton Polo Shirt, Style # GGS-23471, Sizes: S- XL, Colors: Light Blue, Khaki and Navy	100	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$10.64</u>	<u>\$1,064.00</u>
328	Women's Wear Guard WearTec Cotton Polo Shirt, Style # GGS-23471, Sizes: 2XL-3XL, Colors: Light Blue, Khaki and Navy	100	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$12.64</u>	<u>\$1,264.00</u>
329	Women's Wear Guard Wear Tuff Pique Polo, Style # DEF-12238, Sizes: S-XL, Colors: Navy and Royal Blue	100	<u>N/B</u>	<u>N/B</u>	<u>\$19.00</u>	\$1,900.00	<u>\$10.64</u>	<u>\$1,064.00</u>
330	Women's Wear Guard Wear Tuff Pique Polo, Style # DEF-12238, Sizes: 2X-3XL, Colors: Navy and Royal Blue	100	<u>N/B</u>	<u>N/B</u>	<u>\$21.50</u>	\$2,150.00	<u>\$12.64</u>	<u>\$1,264.00</u>
	TOTAL BID AMOUNT (WATERSH MANAGEMENT) LINES 234-330	IED		<u>\$0.00</u>		<u>\$328,885.50</u>		<u>\$234,023.05</u>

PUBLIC WORKS - SANITATION								
Red Kap Permanent Press Industrial Work Pants, Style #PT10, 65% Polyester 35%Cotton, Sizes: 28-42 Waist, 28-36 Inseam, Color: Spruce Green, Navy, & Black	2000	<u>N/B</u>	<u>N/B</u>	<u>\$16.97</u>	\$33,940.00	<u>\$17.10</u>	\$34,200.00	



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
332	Red Kap Permanent Press Industrial Work Pants, Style #PT10, 65% Polyester 35%Cotton, Sizes: 44-64 Waist, 28-36 Inseam, Color: Spruce Green, Navy & Black	2000	<u>N/B</u>	<u>N/B</u>	<u>\$20.35</u>	\$40,700.00	\$20.00	\$40,000.00
333	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: XS-XL, Regular, Color: Spruce Green.	400	<u>N/B</u>	<u>N/B</u>	<u>\$39.64</u>	\$15,856.00	<u>\$37.34</u>	<u>\$14,936.00</u>
334	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: XS-XL, Long, Color: Spruce Green.	400	N/B	<u>N/B</u>	<u>\$39.64</u>	\$15,856.00	<u>\$37.34</u>	<u>\$14,936.00</u>
335	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: 2X-3X, Regular, Color: Spruce Green.	200	N/B	<u>N/B</u>	<u>\$47.00</u>	\$9,400.00	\$44.00	\$8,800.00
336	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: 2X-3X, Long, Color: Spruce Green.	200	N/B	<u>N/B</u>	<u>\$47.00</u>	\$9,400.00	\$44.00	\$8,800.00
337	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: 4X-6X, Regular, Color: Spruce Green.	100	N/B	<u>N/B</u>	<u>\$47.00</u>	<u>\$4,700.00</u>	\$44.00	\$4,400.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
338	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: 4X-6X, Long, Color: Spruce Green.	100	<u>N/B</u>	<u>N/B</u>	\$47 \$77: Size 6XL	<u>\$4,700.00</u>	<u>\$70.67</u>	<u>\$7,067.00</u>
339	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: 7X-8X, Regular, Color: Spruce Green.	100	<u>N/B</u>	<u>N/B</u>	<u>\$78.00</u>	<u>\$7,800.00</u>	<u>\$70.67</u>	\$7,067.00
340	Red Kap Perma-Lined Panel Jacket with department patch, Style JT50, 65% Polyester 35% Cotton, Sizes: 7X-8X, Long, Color: Spruce Green.	100	<u>N/B</u>	<u>N/B</u>	<u>\$71.00</u>	<u>\$7,100.00</u>	<u>\$70.67</u>	<u>\$7,067.00</u>
341	Auburn Sports Windbreaker Jacket, Style #201A, 100% Polyester, includes embroidery w/logo on left or right chest. Sizes: S-XL, Colors: Black or Navy.	225	<u>N/B</u>	<u>N/B</u>	\$33.00	<u>\$7,425.00</u>	<u>\$20.13</u>	<u>\$4,529.25</u>
342	Auburn Sports Windbreaker Jacket, Style #201A, 100% Polyester, includes embroidery w/logo on left or right chest. Sizes: 2X-3X, Colors: Black or Navy.	200	<u>N/B</u>	<u>N/B</u>	<u>\$37.00</u>	<u>\$7,400.00</u>	<u>\$21.19</u>	\$4,238.00
343	Auburn Sports Windbreaker Jacket, Style #201A, 100% Polyester, includes embroidery w/logo on left or right chest. Sizes: 4X-6X, Colors: Black or Navy.	100	<u>N/B</u>	<u>N/B</u>	<u>\$42.00</u>	\$4,200.00	\$22.24 \$23.37: Size 5- 6X	\$2,224.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	ΓΙΟΝΑL	NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
344	Auburn Sports Windbreaker Jacket, Style #201A, 100% Polyester, includes embroideryw/logo on left or right chest. Sizes: 7X-8X, Colors: Black or Navy.	50	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$64.52</u>	\$3,226.00
345	Tri Mountain Three Season Jacket, Style # 8800, Wind/Water Resistant, includes embroidery w/logo on left or right chest. Sizes: S-XL, Colors: Black or Navy	100	<u>N/B</u>	<u>N/B</u>	<u>\$41.00</u>	\$4,100.00	\$39.92	\$3,992.00
346	Tri Mountain Three Season Jacket, Style # 8800, Wind/Water Resistant, includes embroidery w/logo on left or right chest. Sizes: 2X-4X, Colors: Black or Navy	100	<u>N/B</u>	<u>N/B</u>	<u>\$50.00</u>	\$5,000.00	<u>\$47.90</u>	<u>\$4,790.00</u>
347	Tri Mountain Three Season Jacket, Style # 8800, Wind/Water Resistant, includesembroidery w/logo on left or right chest. Sizes: 5X, Colors: Black or Navy	100	<u>N/B</u>	<u>N/B</u>	<u>\$52.00</u>	\$5,200.00	<u>\$50.56</u>	<u>\$5,056.00</u>
348	Tri Mountain Three Season Jacket, Style # 8800, Wind/Water Resistant, includes embroidery w/logo on left or right chest. Sizes: 6X, Colors: Black or Navy	100	<u>N/B</u>	<u>N/B</u>	<u>\$54.00</u>	<u>\$5,400.00</u>	\$53.22	\$5,322.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ЕСО	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
349	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: XS-XL, Length: Short, 28-30 Inseam, Color: Navy	500	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$60.91</u>	\$30,455.00
350	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: XS-XL, Length: Regular, 32-34 Inseam, Color: Navy	500	<u>N/B</u>	<u>N/B</u>	<u>\$68.00</u>	\$34,000.00	<u>\$60.91</u>	\$30,455.00
351	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: XS-XL, Length: Long, 36- 38 Inseam, Color: Navy	500	<u>N/B</u>	<u>N/B</u>	<u>\$68.00</u>	\$34,000.00	<u>\$60.91</u>	\$30,455.00
352	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 2X-3X, Length: Short, 28-30 Inseam, Color: Navy	500	<u>N/B</u>	<u>N/B</u>	<u>\$127.00</u>	<u>\$63,500.00</u>	\$72.30	\$36,150.00
353	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 2X-3X, Length: Regular, 32-34 Inseam, Color: Navy	500	<u>N/B</u>	<u>N/B</u>	\$80 \$124: Size 3XL	\$40,000.00	<u>\$72.30</u>	\$36,150.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ЕСО	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
354	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 2X-3X, Length: Long, 36- 38 Inseam, Color: Navy	500	<u>N/B</u>	<u>N/B</u>	\$80 \$124: Size 3XL	\$40,000.00	<u>\$72.30</u>	\$36,150.00
355	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 4X-6X, Length: Short, 28- 30 Inseam, Color: Navy	400	<u>N/B</u>	<u>N/B</u>	<u>\$127.00</u>	\$50,800.00	<u>\$72.30</u>	\$28,920.00
356	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 4X-6X, Length: Regular, 32-34 Inseam, Color: Navy	400	<u>N/B</u>	<u>N/B</u>	<u>\$127.00</u>	\$50,800.00	<u>\$72.30</u>	\$28,920.00
357	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 4X-6X, Length: Long, 36-38 Inseam, Color: Navy	400	<u>N/B</u>	<u>N/B</u>	<u>\$127.00</u>	\$50,800.00	<u>\$117.85</u>	<u>\$47,140.00</u>
358	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 7X, Length: Short, 28-30 Inseam, Color: Navy	300	<u>N/B</u>	<u>N/B</u>	\$127.00	\$38,100.00	<u>\$117.85</u>	\$35,355.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ЕСО	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
359	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 7X, Length: Regular, 32- 34 Inseam, Color: Navy	300	<u>N/B</u>	<u>N/B</u>	<u>\$127.00</u>	\$38,100.00	<u>\$117.85</u>	\$35,355.00
360	Red Kap Men's Insulated Twill Coverall with department patch, Style #CT30, 65% Polyester 35% Cotton, Sizes: 7X, Length: Long, 36-38 Inseam, Color: Navy	300	<u>N/B</u>	<u>N/B</u>	\$127.00	\$38,100.00	<u>\$117.85</u>	\$35,355.00
361	Red Kap Twill Action Back Coverall with patch, Style #CT10, long sleeve, 65% Polyester 35% Cotton, Sizes: 34-50 Waist, Length: Regular, Color Spruce Green	600	<u>N/B</u>	<u>N/B</u>	<u>\$34.00</u>	\$20,400.00	\$29.59	<u>\$17,754.00</u>
362	Red Kap Twill Action Back Coverall with patch, Style #CT10, long sleeve, 65% Polyester 35% Cotton, Sizes: 34-50 Waist, Length: Long, Color Spruce Green	600	<u>N/B</u>	<u>N/B</u>	\$34.00	\$20,400.00	\$29.59	\$17,754.00
363	Red Kap Twill Action Back Coverall withpatch, Style #CT10, long sleeve, 65% Polyester 35% Cotton, Sizes: 52-62 Waist, Length: Regular, Color Spruce Green	300	<u>N/B</u>	<u>N/B</u>	\$39:Size 52-59 \$59.50: Size 60-62	\$11,700.00	\$34.70	\$10,410.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ЕСО	E.R. PARTR	RIDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
364	Red Kap Twill Action Back Coverall with patch, Style #CT10, long sleeve, 65% Polyester 35% Cotton, Sizes: 52-62 Waist, Length: Long, Color Spruce Green	300	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$55.17</u>	<u>\$16,551.00</u>
365	Red Kap Twill Action Back Coverall with patch, Style #CT10, long sleeve, 65% Polyester 35% Cotton, Sizes: 62-70 Waist, Length: Regular, Color Spruce Green	300	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$55.17</u>	<u>\$16,551.00</u>
366	Red Kap Twill Action Back Coverall with patch, Style #CT10, long sleeve, 65% Polyester 35% Cotton, Sizes: 62-70 Waist, Length: Long, Color Spruce Green	300	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$55.17</u>	<u>\$16,551.00</u>
367	Safety High Viz Lime JERSEY Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: S-XL, in accordance with MS.	1800	<u>N/B</u>	<u>N/B</u>	<u>\$26.50</u>	\$47,700.00	<u>\$23.13</u>	<u>\$41,634.00</u>
368	Safety High Viz Lime JERSEY Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 2X, in accordance with MS.	1800	<u>N/B</u>	<u>N/B</u>	<u>\$27.00</u>	\$48,600.00	<u>\$23.13</u>	<u>\$41,634.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
369	Safety High Viz Lime JERSEY Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 3X, in accordance with MS.	1800	<u>N/B</u>	<u>N/B</u>	<u>\$27.75</u>	\$49,950.00	<u>\$23.78</u>	<u>\$42,804.00</u>
370	Safety High Viz Lime JERSEY Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 4X, in accordance with MS.	1400	<u>N/B</u>	<u>N/B</u>	<u>\$28.50</u>	\$39,900.00	<u>\$24.43</u>	\$34,202.00
371	Safety High Viz Lime JERSEY Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest.Sizes: 5X, in accordance with MS	1400	<u>N/B</u>	<u>N/B</u>	<u>\$29.25</u>	\$40,950.00	<u>\$25.10</u>	\$35,140.00
372	Safety High Viz Lime JERSEY Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 6X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	\$30.00	\$30,000.00	<u>\$25.75</u>	\$25,750.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
373	Safety High Viz Lime JERSEY Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 7X, in accordance with MS.	600	<u>N/B</u>	<u>N/B</u>	<u>\$31.00</u>	\$18,600.00	<u>\$26.40</u>	<u>\$15,840.00</u>
374	Safety High Viz Lime JERSEY Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: S-XL, in accordance with MS.	1800	<u>N/B</u>	<u>N/B</u>	<u>\$23.00</u>	\$41,400.00	<u>\$19.53</u>	<u>\$35,154.00</u>
375	Safety High Viz Lime JERSEY Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 2X, in accordance with MS.	1500	<u>N/B</u>	<u>N/B</u>	<u>\$23.75</u>	\$35,625.00	<u>\$19.50</u>	\$29,250.00
376	Safety High Viz Lime JERSEY Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 3X, in accordance with MS.	1500	<u>N/B</u>	<u>N/B</u>	<u>\$24.50</u>	\$36,750.00	<u>\$20.15</u>	\$30,225.00
377	Safety High Viz Lime JERSEY Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 4X, in accordance with MS specifications.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$25.25</u>	\$25,250.00	<u>\$21.10</u>	\$21,100.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
378	Safety High Viz Lime JERSEY Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 5X, in accordance with MS	1000	<u>N/B</u>	<u>N/B</u>	<u>\$26.00</u>	\$26,000.00	<u>\$21.30</u>	\$21,300.00
379	Safety High Viz Lime JERSEY Knit Reflective Shirt, Short Sleeve & Pocketed,, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 6X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$26.75</u>	\$26,750.00	<u>\$21.95</u>	\$21,950.00
380	Safety High Viz Lime JERSEY Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 7X, in accordance with MS.	600	<u>N/B</u>	<u>N/B</u>	<u>\$27.50</u>	\$16,500.00	<u>\$22.60</u>	\$13,560.00
381	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: S-XL, in accordance with MS.	1800	<u>N/B</u>	<u>N/B</u>	<u>\$26.50</u>	\$47,700.00	<u>\$23.12</u>	<u>\$41,616.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAFECO		E.R. PARTRIDGE,	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
381	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 2X, in accordance with MS.	1500	<u>N/B</u>	<u>N/B</u>	<u>\$27.25</u>	\$40,875.00	<u>\$23.12</u>	\$34,680.00
382	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 3X, in accordance with MS.	1500	<u>N/B</u>	<u>N/B</u>	<u>\$28.00</u>	\$42,000.00	<u>\$23.78</u>	\$35,670.00
383	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 4X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$28.75</u>	\$28,750.00	<u>\$24.43</u>	\$24,430.00
384	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 5X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$29.50</u>	\$29,500.00	<u>\$25.10</u>	\$25,100.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
385	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 6X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$30.25</u>	\$30,250.00	<u>\$25.75</u>	\$25,750.00
386	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Long Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 7X, in accordance with MS.	600	<u>N/B</u>	<u>N/B</u>	<u>\$31.00</u>	\$18,600.00	<u>\$26.50</u>	\$15,900.00
387	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: S-XL, in accordance with MS.	2000	<u>N/B</u>	<u>N/B</u>	<u>\$22.50</u>	<u>\$45,000.00</u>	<u>\$14.95</u>	\$29,900.00
388	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 2X, in accordance with MS.	1500	<u>N/B</u>	N/B	<u>\$23.25</u>	\$34,875.00	<u>\$14.95</u>	\$29,900.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	ΓΙΟΝΑL	NAF	ЕСО	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
389	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 3X, in accordance with MS.	1500	<u>N/B</u>	<u>N/B</u>	<u>\$15.50</u>	\$23,250.00	<u>\$15.59</u>	\$23,385.00
390	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 4X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$16.00</u>	\$16,000.00	<u>\$16.25</u>	<u>\$16,250.00</u>
391	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 5X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$16.50</u>	\$16,500.00	<u>\$16.90</u>	<u>\$16,900.00</u>
392	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 6X, in accordance with MS.	1000	<u>N/B</u>	<u>N/B</u>	<u>\$17.00</u>	\$17,000.00	<u>\$17.90</u>	<u>\$17,900.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
393	Safety High Viz Lime BIRDSEYE Knit Reflective Shirt, Short Sleeve & Pocketed, ANSI/ISEA Class 2 Compliant, includes screen-print w/logo on left or right chest. Sizes: 7X, in accordance with MS.	600	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$18.19</u>	\$10,914.00
394	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: XS-XL, Length: Regular, Colors: Black, Navy	200	<u>\$18.16</u>	\$3,632.00	<u>\$19.50</u>	\$3,900.00	<u>\$20.63</u>	\$4,126.00
395	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: XS-XL, Length: Long, Colors: Black, Navy & Khaki	100	<u>\$19.86</u>	\$1,986.00	\$21.00	\$2,100.00	<u>\$21.96</u>	\$2,196.00
396	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 2X, Length: Regular, Colors: Black, Navy & Khaki	100	<u>\$19.59</u>	\$1,959.00	<u>\$21.00</u>	\$2,100.00	<u>\$21.96</u>	\$2,196.00
397	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 2X, Length: Long, Colors: Black, Navy & Khaki	100	<u>\$21.29</u>	\$2,129.00	\$22.00	\$2,200.00	\$23.29	\$2,329.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
398	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 3X, Length: Regular, Colors: Black, Navy & Khaki	100	<u>\$22.44</u>	<u>\$2,244.00</u>	<u>\$23.50</u>	\$2,350.00	<u>\$24.62</u>	\$2,462.00
399	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 3X, Length: Long, Colors: Black, Navy & Khaki	100	<u>\$24.15</u>	<u>\$2,415.00</u>	<u>\$25.00</u>	<u>\$2,500.00</u>	<u>\$26.95</u>	\$2,695.00
400	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 4X, Length: Regular, Colors: Black, Navy & Khaki	100	<u>\$23.87</u>	<u>\$2,387.00</u>	<u>\$25.00</u>	<u>\$2,500.00</u>	<u>\$26.95</u>	\$2,695.00
401	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 4X, Length: Long, Colors: Black, Navy & Khaki	100	<u>\$25.58</u>	<u>\$2,558.00</u>	<u>\$26.00</u>	<u>\$2,600.00</u>	<u>\$27.28</u>	\$2,728.00
402	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 5X, Length: Regular, Colors: Black, Navy & Khaki	100	<u>\$26.73</u>	<u>\$2,673.00</u>	<u>\$27.50</u>	\$2,750.00	<u>\$28.61</u>	\$2,861.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
403	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 5X, Length: Long, Colors: Black, Navy & Khaki	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$35.26</u>	\$3,526.00
404	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 6X, Length: Regular, Colors: Black, Navy & Khaki	100	<u>\$28.16</u>	<u>\$2,816.00</u>	<u>\$29.00</u>	<u>\$2,900.00</u>	<u>\$29.94</u>	<u>\$2,994.00</u>
405	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 6X, Length: Long, Colors: Black, Navy & Khaki	100	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$35.26</u>	<u>\$3,526.00</u>
406	San Mar Polo Shirt, Style #K500LS, LongSleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 7X, Length: Regular, Colors: Black, Navy & Khaki	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$35.26</u>	\$3,526.00
407	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes:7X, Length: Long, Colors: Black, Navy & Khaki	100	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$35.26</u>	\$3,526.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
408	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes: 8X, Length: Regular, Colors: Black, Navy & Khaki	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$35.26</u>	\$3,526.00
409	San Mar Polo Shirt, Style #K500LS, Long Sleeve, 65/35 Poly/Cotton Pique, includes embroidery w/logo on left or right chest. Sizes:8X, Length: Long, Colors: Black, Navy & Khaki	100	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$35.26</u>	\$3,526.00
410	Red Kap Pique Knit Shirt with Pocket, Style #SK82, Short Sleeve, 50% Cotton 50% Polyester, includes embroidery w/logo on left or right chest. Sizes: XS- XL, Colors: Black, Navy & Khaki	1400	<u>\$11.64</u>	\$16,296.00	<u>\$14.75</u>	\$20,650.00	<u>\$17.97</u>	\$25,158.00
411	Red Kap Pique Knit Shirt with Pocket, Style #SK82, Short Sleeve, 50% Cotton 50% Polyester, includes embroidery w/logo on left or right chest. Sizes: 2X-3X, Colors: Black, Navy & Khaki	1400	<u>\$13.83</u>	<u>\$19,362.00</u>	16 \$18.75:Size 3XL	\$22,400.00	<u>\$20.63</u>	<u>\$28,082.00</u>
412	Red Kap Pique Knit Shirt with Pocket, Style #SK82, Short Sleeve, 50% Cotton 50% Polyester, includes embroidery w/logo on left or right chest. Sizes: 4X-6X, Colors: Black, Navy & Khaki	1200	<u>\$17.49</u>	\$20,988.00	\$22.00	\$26,400.00	\$23.29	\$27,948.00



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
413	Red Kap Pique Knit Shirt with Pocket, Style #SK82, Short Sleeve, 50% Cotton 50% Polyester, includes embroidery w/logo on left or right chest. Sizes: 7X-8X, Colors: Black, Navy & Khaki	600	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$32.60</u>	\$19,560.00
414	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP14, Long Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: XS-XL, Colors: Black, Navy & Khaki	400	<u>\$18.59</u>	\$7,436.00	<u>\$17.75</u>	\$7,100.00	<u>\$18.54</u>	<u>\$7,416.00</u>
	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP14, Long Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 2X-3X, Colors: Black, Navy & Khaki	400	<u>\$21.45</u>	\$8,580.00	<u>\$20.00</u>	<u>\$8,000.00</u>	<u>\$21.00</u>	<u>\$8,400.00</u>
416	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP14, Long Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 4X-6X, Colors: Black, Navy & Khaki	420	<u>\$21.45</u>	\$9,009.00	\$20 \$31:Size 5- 6XL	<u>\$8,400.00</u>	<u>\$21.00</u>	\$8,820.00
417	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP14, Long Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 7X-8X, Colors: Black, Navy & Khaki	200	<u>N/B</u>	<u>N/B</u>	\$31.00	<u>\$6,200.00</u>	\$31.00	<u>\$6,200.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
418	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: XS-XL, Length: Regular. Colors: Black, Navy & Khaki	300	<u>\$16.45</u>	<u>\$4,935.00</u>	<u>\$15.25</u>	<u>\$4,575.00</u>	<u>\$16.30</u>	<u>\$4,090.00</u>
419	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: XS-XL, Length: Long. Colors: Black, Navy & Khaki	300	<u>\$17.91</u>	<u>\$5,373.00</u>	\$17.50 \$25: Size S	<u>\$5,250.00</u>	<u>\$26.60</u>	<u>\$7,980.00</u>
420	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 2X-3X, Length: Regular. Colors: Black, Navy & Khaki	300	<u>\$19.31</u>	<u>\$5,793.00</u>	<u>\$17.50</u>	<u>\$5,250.00</u>	<u>\$23.00</u>	<u>\$6,900.00</u>
421	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 2X-3X, Length: Long Colors: Black, Navy & Khaki	300	<u>\$20.77</u>	\$6,231.00	<u>\$17.50</u>	<u>\$5,250.00</u>	<u>\$26.60</u>	<u>\$7,980.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTRIDGE, IN	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
422	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 4X-5X,Length: Regular. Colors: Black, Navy & Khaki	250	<u>\$19.31</u>	\$4,827.50	<u>\$17.50</u>	\$4,375.00	<u>\$18.36</u>	<u>\$4,590.00</u>
423	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 4X-5X, Length: Long Colors: Black, Navy & Khaki	250	<u>N/B</u>	<u>N/B</u>	<u>\$17.50</u>	<u>\$4,375.00</u>	<u>\$26.60</u>	<u>\$6,650.00</u>
424	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 6X-8X, Length: Regular. Colors: Black, Navy & Khaki	200	<u>\$19.31</u>	\$3,862.00	\$17.50 \$26: Size 7- 8XL	\$3,500.00	<u>\$26.60</u>	<u>\$5,320.00</u>
425	Red Kap Men's Industrial Work Shirt with Pocket, Style #SP24, Short Sleeve, 65% Polyester 35% Cotton, includes embroidery w/logo on left or right chest. Sizes: 6X-8X, Length: Long Colors: Black, Navy & Khaki	200	<u>N/B</u>	<u>N/B</u>	<u>\$26.00</u>	<u>\$5,200.00</u>	<u>\$26.60</u>	<u>\$5,320.00</u>
	TOTAL BID AMOUNT (PUBLIC WOR SANITATION) LINES 331-425	KS -		<u>\$137,491.50</u>		\$1,755,977.00		\$1,687,013.25



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO PRODUC	TIONAL	NAF	ECO	E.R. PARTR	IDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
		PUBLI	C WORKS - B	BEAUTIFICAT	ΓΙΟΝ			
426	Insulated Twill Coverall, Style # CT30,Embroidery on left side of the chest , Size: M- XL, Color: Navy	100	N/B	<u>N/B</u>	<u>\$65.00</u>	\$6,500.00	<u>\$62.91</u>	\$6,291.00
427	Classic Full Poplin Golf Cap, Style # 1-6002, Embroidery in front, Colors: Navy and Black	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$8.66</u>	<u>\$866.00</u>
	TOTAL BID AMOUNT (PUBLIC WOR BEAUTIFICATION) LINES 426-427	KS -		<u>\$0.00</u>		<u>\$6,500.00</u>		<u>\$7,157.00</u>
		FA	ACILITIES MA	ANAGEMENT	Γ			
428	E.R. Partridge - Uniform Shirt Item # 88194 Short Sleeve, White Royal Blue w/Embroidered D/C FM Logo, Size XL or acceptable equal. MANUFACTURER NAME & NO.	25	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$27.28</u>	<u>\$682.00</u>
429	E.R. Partridge - Uniform Shirt Item # 88194 Short Sleeve, White, Royal Blue w/Embroidered D/C FM Logo, Size XLT or acceptable equal. MANUFACTURER NAME & NO.	25	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$29.61</u>	<u>\$740.25</u>
430	E. R. Partridge - Uniform Shirt Item # 88193 Long Sleeve, White, Royal Blue w/Embroidered D/C FM Logo, Size XL or acceptable equal. MANUFACTURER NAME & NO.	25	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$27.28</u>	<u>\$682.00</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

			SAFEGUARD PRINTING & PROMOTIONAL PRODUCTS, INC.		NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
431	E.R. Partridge - Short Sleeve BL/GY Micro Check Uniform Shirt SP20EX, BL/GY Micro Check w/Embroidered D/C FM Logo, Size M- XL or acceptable equal. MANUFACTURER NAME & NO.	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$22.21</u>	\$2,221.00
432	E.R. Patridge - Short Sleeve BL/GY Micro Check Uniform Shirt SP20EX, BL/GY Micro Check w/Embroidered D/C FM Logo, Size 2XL-3XL or acceptable equal. MANUFACTURER NAME & NO.	80	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$25.46</u>	\$2,036.80
433	E.R. Partridge - Long Sleeve BL/GY Micro Check Uniform Shirt SP10EX, BL/GY Micro Check w/ Embroidered D/C FM Logo, Size M-3XL or acceptable equal. MANUFACTURER NAME & NO.	100	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$23.76</u>	\$2,376.00
434	NAFECO - Ladies Heavyweight Polo Shirt L420, Royal Blue w/ Embroidered D/C FM Logo, Size S-2X or acceptable equal. MANUFACTURER NAME & NO.	6	\$30.08	<u>\$180.48</u>	<u>N/B</u>	<u>N/B</u>	\$19.30	<u>\$115.80</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		COMPANY	SAFEGUARD PROMO' PRODUC	TIONAL	NAF	ECO	E.R. PARTR	RIDGE, INC.
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
435	NAFECO - Ladies 3/4 sleeve Shirt L612 and RH690, Royal Blue, Pink - w/Embroidered D/C FM Logo, Size S-2X or acceptable equal. MANUFACTURER NAME & NO.	6	<u>\$25.87</u>	<u>\$155.22</u>	\$43 \$25: L612	<u>\$258.00</u>	<u>\$37.92</u>	<u>\$227.52</u>
436	NAFECO - Ladies 3/4 sleeve Shirt L612 and RH691, Royal Blue, Pink w/ Embroidered D/C FM Logo, Size 2X or acceptable equal. MANUFACTURER NAME & NO.	6	<u>\$26.58</u>	<u>\$159.48</u>	\$43 \$25: L612	<u>\$258.00</u>	<u>\$20.63</u>	<u>\$123.78</u>
437	NAFECO - Ladies Long Sleeve Shirt L608, White w/ Embroidered D/C FM Logo, Size S- 2X or acceptable equal. MANUFACTURER NAME & NO.	6	\$32.94	<u>\$197.64</u>	<u>\$27.00</u>	<u>\$162.00</u>	<u>\$21.96</u>	<u>\$131.76</u>
438	NAFECO - Ladies Nailhead Non-Iron Shirt RH470, Navy w/Embroidered DC/FM Logo, Size S-2X MANUFACTURER NAME & NO. or acceptable equal.	6	<u>\$50.09</u>	<u>\$300.54</u>	<u>\$43.00</u>	<u>\$258.00</u>	<u>\$37.92</u>	<u>\$227.52</u>
439	E.R. Partridge - 3 in 1 Jacket/Nylon with zipout Fleece 7800, Navy w/ Embroidered D/C FM Logo, Size M-XL or acceptable equal. MANUFACTURER NAME & NO.	40	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$78.82</u>	\$3,152.80



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

			SAFEGUARD PRINTING & PROMOTIONAL PRODUCTS, INC.		NAFECO		E.R. PARTRIDGE, INC.	
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
440	E.R. Partridge - 4 in 1 Jacket/Nylon with zipout Fleece 7800, Navy w/Embroidered D/C FM Logo, Size 2XL-3XL or acceptable equal. MANUFACTURER NAME & NO.	12	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	\$82.81	<u>\$993.72</u>
441	E.R. Partridge - 65/35 POLY/COT. CARGO PANTS PT88NV, Navy, Size Varies (Waist & Inseam) or acceptable equal. MANUFACTURER NAME & NO.	80	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	\$20.62	\$1,649.60
442	E.R. Partridge - Big Ben 65/35 poly/cotton work pants PT62/KH, Khaki, Size Varies (Waist & Inseam) or acceptable equal. MANUFACTURER NAME & NO.	50	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$18.75</u>	<u>\$937.50</u>
443	NAFECO - Dry Zone Grid Polo Shirt K572, Battleship Grey, True Royal w/Embroidered D/C FM Logo, Size XS- 4XL or acceptable equal. MANUFACTURER NAME & NO.	20	<u>\$20.92</u>	\$418.40	N/B	<u>N/B</u>	\$15.31	\$306.20
444	NAFECO - Ladies Dry Zone Grid Polo Shirt L572, Battleship Grey, True Royal w/Embroidered D/C FM Logo, Size XS- 4XL MANUFACTURER NAME & NO. or acceptable equal.	10	<u>\$25.17</u>	<u>\$251.70</u>	<u>N/B</u>	<u>N/B</u>	<u>\$15.31</u>	<u>\$153.10</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

COMPANY		SAFEGUARD PRINTING & PROMOTIONAL PRODUCTS, INC.		NAFECO		E.R. PARTRIDGE, INC.		
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
445	NAFECO - Jacket - Flame Retardant JET2NV, Navy w/ Embroidered D/C FM Logo, Size M- 3XL MANUFACTURER NAME & NO. oracceptable equal.	12	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$140.41</u>	<u>\$1,684.92</u>
446	NAFECO - Pants - Flame Retardant PLJ8NV, Navy w/Embroidered D/C FM Logo, Size M- 3XL MANUFACTURER NAME & NO.	25	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$64.67</u>	<u>\$1,616.75</u>
447	NAFECO - Long Sleeve Shirts - Flame Retardant SLU4KH, Khaki with Camoflage Side; w/Embroidered D/C FM Logo, Size M- 3XL MANUFACTURER NAME & NO. or acceptable equal.	14	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$64.16</u>	\$898.24
448	NAFECO - Deluxe Coveralls CLZ4NV Men's (Reg), Navy w/Embroidered D/C FM Logo, Size (varies by chest size) or acceptable equal. MANUFACTURER NAME & NO.	7	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>\$119.45</u>	<u>\$836.15</u>



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

		SAFEGUARD PRINTING & PROMOTIONAL PRODUCTS, INC.		NAFECO		E.R. PARTRIDGE, INC.		
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
449	E.R. Partridge - Short Sleeve Polo Shirts - Flame Retardant SMP8 Bulwark FM Men's 6.5 oz SS Classic Cat2 Polo,Khaki w/Embroidered D/C FM Logo, Size M-XL or acceptable equal. MANUFACTURER NAME & NO.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$97.40</u>	<u>\$1,948.00</u>
450	E.R. Partridge - Short Sleeve Polo Shirts - Flame Retardant SMP8 Bulwark FM Men's 6.5 oz SS Classic Cat2 Polo, Khaki w/ Embroidered D/C FM Logo, Size 2XL-3XL or acceptable equal. MANUFACTURER NAME & NO.	20	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>	<u>\$97.40</u>	<u>\$1,948.00</u>
	TOTAL BID AMOUNT (FACILITIES MANAGEMENT) LINES 428-450			<u>\$1,663.46</u>		<u>\$936.00</u>		<u>\$25,689.41</u>
		RECREATION	ON PARKS &	CULTURAL	AFFAIRS			
451	5.11 Tactical BDU Pants, TR666, Sizes: L-3XL, Colors: Navy. MANUFACTURER NAME & NO.	30	<u>N/B</u>	<u>N/B</u>	N/B	<u>N/B</u>	<u>N/B</u>	<u>N/B</u>
			GENERAL	L COST	•			
1	ost to furnish Patches for items (County Name Patch)		<u>N/B</u>		\$2.00		\$4.00	



BID OPENING: 09/10/2020 PRICE OPENING: 09/24/2020 TECHNICIAN: LOLA AWONUSI

ITB NO.: 20-101271

ITB NAME: UNIFORM FOR COUNTY EMPLOYEES II

COMPANY		SAFEGUARD PRINTING & PROMOTIONAL PRODUCTS, INC.		NAFECO		E.R. PARTRIDGE, INC.		
ITEM NO.	COMMODITIES OR SERVICES	ESTIMATED QUANTITY	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT
2	Cost for Initial Set-up of Screen Print Design		<u>\$80.00</u>		<u>\$50.00</u>		<u>\$3.50</u>	
3	Bidder states percentage mark-up for specialty sizes, as noted in MS.		<u>25.0%</u>		100.0%		100.0%	
*The n	umbers in red represent instances with m	athematical erro	ors.		•			
Number of Bids Received				8	•	·		
LSBE Participation Benchmark / GFE		LSBE-MSA		20%		20	%	
Attendance at Mandatory LSBE Meeting (Yes/No)		Yes		Yes		Yes		
Separate Sealed Price Schedule (Yes/No)		Yes		Yes		Yes		

Witness Signature:

Technician Signature: